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SEC:CN’DYEARHEGH‘ER SECONDARY EXAMINATION
MARCH

SUBJECT: ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS CODE NO. SY 49

1

PART A
’ Qn | Sub . Answer key or Value pomts e | Score | Tota ;
| No.. | Qns L P L o S '
1| |c Owners Fund [ ) 1 |1
| 2 | |bBoth(bjand(c] ] 1
3 b Not mandatory 1 1
L_4 ____| a Debited to Revaluation Alc e 11 1
5 [ Total drawings =1000+12=12000 -
T Interest on drawing=12000"6.5/12°6/100
§ISRE =390 1
j , (for equation 1 mark. For answer 1 mark) ’ 1 2
T |[Partner  [Old Ratio  Sacrificing Ratio NewRatio 1
\ | ‘Rajan ‘;3/5 P s i “___“,12!25 1]
,1 IRadhan 12/5 2 ~2/25 b ]8/25 _‘
_ 1 2
7] T | Amount paid for stationary during 2017-18 = 1300 o
-Add: Stock of stationaryon 31.03.2018 =1200 |
[ , Creditors at the end of 31.03.2018 = 1400
i : ' 3900
' Less:Stock of stationary on 31.03.2018 = 1900
' Stat:onary consumed during the year = 2000 | P2 |
(foreach correct entry 1/2 score. (or )for correct answer give 2 ' |
} score) l J ’
| — \ e—— l
8 | {lParticulars L/F 'Debit 'Credit o
By | | ﬁ {amount ‘amount 1| |
| |[Reallsation Al or’ 19900 }
! 'Jﬁ__ _Ig‘(w)aohr - Alc N ]9900 |
| | I (for calculatmg amount 1 score . JOJrnal entry 1 score) 1 .
|
f—g—_‘ "a. Surplus or deficit 1|
i b _any two differences 3} = 2 3
10| \ 1. Sacrificing Ratio ‘ 1\2
| 2. Gaining Ratio .~ 1\2
L (anytwodifference) L2 |3



11 | a.gaining Ratio= 5:3 i
b
'Particulars AWt "~ 7JF "Debit |Credit ' |
, | jamount tamouni |
|Anu's Capital A/c - Dr 15000 1
lAmmu s Capital Alc Dr ! ?3000 !
. . To Achu's Capital Account ol ) 8000 | |
| b *
= m i i
12 Proflt and Loss Appropriation Account |
F’artlcu_lgrs B _%Amount Particulars J{Amount ‘
xlnterest on Capital | INet Profit 24000 ' |
] A: 3000 ‘Interest on drawings %
| B:2500 5500 |
'Salary  (500%12) 6000 |A:300 500 ||
‘Share of profit ! £ |
| ‘transferd tc Capital | 1B;200 |
| Account ] ‘ ; !
l A: 6500 | ' \ | |
h B: 6500 13000 el N
l 245000 1124500 || \
, . (E:ach correct entry give 1/2 score each i
13 [l 'Particulars ‘Debit  |Credit |
" ol e, o 2 ' _IAmount " Amount |
| 'a. 'Realisation A/c Dr 1500 i |1
| _To Bankicash Alc e gl 1500
b, iBank /cash Alc 12000 i ‘;
|t iDr 12000 i1
| To Realisation T o R,
e Realisation Alc. Dr 19500 ‘, |t
|| ToBankleash A . . 9500
d. {Partner's Capital Alc Dr 11200 S
L l . To Realisation Alc | 1200




|14

- Good will

i

—
T

Calcu!atlon of Good will
Average profit = =22000+28000+18000- 0-8000/4 = 13000

rPamcula
|
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2 "A's - Capital Alc
! 'B's Capital Alc
| ‘!C's Capital Alc
Or
Pamculars .
1. )FA'S Capital alc
H(a) |B's Capital alc
\C's Capital a/c
" To Goodwilla/c
A s Capital
(b) |B's Capital a/c
\‘_I0usCmmmam
2.1 EAS Capital alc
[(a) ‘|B's Capital a/c
‘C g Capital a/c
. To Goodwill a/c
A's Capital
'(b) :B's Capitaialc

s
|
!
|
1
|
l
i
|
[l
\
'1
)

, ‘
! ﬁ

[ ST SRty

= 15000*3 =45000

: To A's Capital Alc
‘! To B's Capital Alc
; To C's Capital Alc

_To_Good will Alc

To C's Capitala/c

=Tk

Dr

Dr
Dr

Dr.
Dr.
Dr.

b

Dr.

Dr.
Dr.
Dr.

" Dr.
Dr.

—=t

-

Credit | |

‘Debn'
{Amount xAmount
{15000 |
1 6000
} 3000
L6000
12000
11000
12000 |
... .5000
'Debit .Credit
112000 |
' 6000 |
112000 |
130000
12000
6000 1
;nﬁ,,__,lTBOOO
20000
10000 |
120000 |
| . ,50000
12000 ‘
: 6000
!

18000

|
n
|

i

'
1
-

1

H
|

11\2 |

11\2 ‘

11\2



e b

. | T J
Creditors ] 1200'0(')”—\.T1

15 R lParhculars B i e ~Amount | nt Particulars tamount
= -_\{Debtors g -\20000
: : ptock : [ \22000 Bills Payable -.130000
| i |Furniture i 125000 [nvestment
'_ Macﬁmery i | 40000 | fluctuation fund k 5000
' linvestment ! 130000 Provision 1000
| Bank(Crs.17000 47000 'Bank (stock ;
o || &B/P30000) 19800,Drs 5
& \ Pranav's Capital ‘ 18000 Machinery |
\(Expense) \% 1000 40000&Investment |
i S \ \ 30000) 1107800
| l Abhi's Capital alc \
| Abhi's Capital 1 (Furniture) 22000
1480 | 800 |
' lPranavs Capital ‘ )
. "; 320 |
| 4 Il '- L) ol - L
il L‘_,.;;,.-;_-_.,,_.Q__ 185800 | - —— _{165& 0



| add surplus 20000'43000
| | Denation for -
125000

' buildings
| Ols salaries { 2500
| |
|
| |
| |
|' !
|
I| |
[ 170500

linvestment

|add purchase 4000 7000
furniture 6000
'Add
! purchases 12000

18000
less depre 3000 15000
Ofs subscription ,3000
\pre paid rent 500
30000

( Fxpendlt_qrf _{Amount 1t jIncome ______ :Amount
Rent 3000 Subscri. 32000
!!iess Prepaid - 500 | 2500 |Les: Ols 2000 |
i i Salaries 7500 | [ S S | ‘
{Add:O/s 2500 ’ 10000 | 30000 ! |
lbeprematlon . 3000 ,Add Ofs 3000 133000 i
| | isale of News Paper ! 1500 |
| i Surplus i 20000 ,Sundry Recelpts . 1000
| | | |
| ! j i
| | |
| 35500 35500 |
. N Balan(.e sheet as s on 31/12/2_Q17 |
Liabilities : [ﬂngult Asset _Amount:
| General/capital fund 23000 Cashin hand 12000 1
| ,(b/f) ,furnlture 6000 |
| | ‘books 3000
| | | |subscription o/s fzooo ?
i S
If 1 ) (23000 | 23000
s __Eigil_ance sheet on 31/12/2018 N
i Llabmt;_e_3§ _ ﬂ__ga;mgugt Ias__sets_ amount“
'|General / capital | .Cash in hand £15000
' fund 23000 ;book 3000

!




o T Revaluation A e S B T il
! Ll?,a_rgg_y)_a_rv 77 ramount | Particuiars_ =~ TAmount boy/2
| [Stock 11500 | Buildings 10000 _} Score
1 iFurniture . 1600 : i | for
- Provision 1500 | | |each |
' Creditors 12000 || correct
‘Wrc on Revaluatign | i ; | entry
5 ! i ¢ ; |
' apit 450 '”
| ‘Devika's Capital 2
|_"x350 ) : {u ‘ ; | ‘ \
: ST (0 o .. _! 5400 | L e, i
" : - © /10000 _ 10000
e o ‘
T TR N 7 . Partner's capitalaccount ___\
-ﬁgﬂ[cy_lg_r_s ] Jggplka devika | radika | particulars | 'gopika | devika Eradika{ 1/2.
s - . Balance '31000 22500 ‘ Score |
] : ‘ i b/d for
: | Bank , 20000, each
| | goodwill 6000 12000 | correct |
: ; | Revaluatio 4050 | 1350 entry |
. n n i I
’ : : | General ;
\ i ' | i
| ' . %
| balance ¢/id 44050 26850 | »; | 3
| 1______4__ R A J200000 0ok o4 _}_ ]
i , '44050_J26850 |20000 jAOSO 26850 120000 ‘
T T 77 "Balance sheet as on31/0312018 R f_ﬁ*: .
Liabilites <~amount TAssets ~_[amount |
S Cr 25000 Cash(12500+20000+- ‘
| ‘add unrecorded: 2000 27000 8000) ' 40500
{Capital Bl 1 L ' 3000 | 172
- Gopika 44050 $Dr - . 17000 ' Score ‘
| Devika . 26850 Less Provision 1500 |15500 | for
{ Radika 20000 90900 Stock 15000 each
| ' |Less Depre 1500 13500 | -correct |
| Fumiture 6000 entry |
: less Depr 600
'Buldings 30000 ! SHe .
add Appre 10000 | ,
| | p 140000, |
i LD e i e it - |
NI e o 117_90_0_ o WE o 117900 ' 3 |
| |




St ey tj_

 {CODE :S8Y 49)
PART.B
ANAl YS‘S OF. FINANCIAL MANAGEMENT

QN | Sub |
| .| Qn. ; g
‘No.| | Answer keylValue Pomts - 5 e 'v tScore Total
‘_1 : _ | b) Interest Rate o e R =02k = of UDUSRE ___1 e
|__?__P;_ i c;) Inventory. Tumover F?gu_ow__“_ L1l d : = Wams 1 o
1Sl dele income Statement DRI I
| 4.1 - |dyincomeTax . . . - ' by B A
5 | a | BearerDebentirs ot |
| b |lrredeemable Debentrue Bllath ALY [ A
|__6_ a.. | Reserves and ourptus/Share Holders Fund . | 1 _ R
| b [ Current Asset " . 2]
_7__;_9‘ | Decrease cash “from operation /(-) B e L 5 7
[ b | Increase cash from operation/(+y | 1 | 2
8 |  Calculation of Gross Profit Ratio SERE | |
| | - Revennue from operation 650000 ¢ :
l | L ess Return inwards- : 50090 !
Net Revue from operation , 600000 ! |
Less cost of Revenue from operation 4800.00 |
| | Gross Profit _ 120000 ! 1
(:roscs Profit Ratio = Gross Profit / Net Reveue from Operation . x 100 |
‘ =120000/600000x100 = 20% ' ot ‘ 2
‘ !
g A Stﬁaieme_nt_gffrgfgand LOSS/ Income Statement | SN SILSSE. 12,
| 2 | Balance Sheet/ Position Statement . == e
| Any two limitations F e Dl = |20 |3
10 Building a/.c ~ Dr. 220000
e e ToVendersa/c. . .. 20000 .t |
[Venaersaie .~ Dr. 110000 | | |
e AR, _IF?_}:ES,h @lei B it . ULCIo0 S SRy O Sl | S |
Venders a/c * - Dr.” 110000 _
. To'12% Debentrure alc - 100000
ot h .____V]".o Debenture Premium alc 10000 s |1 el w
| || (Give marks for compogn_d =T A S | T
11 | a | OverSubscription - ST Rt LA
o L .
| Three Aalternatives are available
1. Accept some apphcatlon ln futt and totally reject |
| the others | :
2. Make a Pro-rata allctement to all | |
3. Adopt a combination of above 2 alternatives |
| [ (write any two) . o v sl S .. ‘ 3 |
| pZ e ' Investing n . ) e
| b |Operating Lt gl | 2|
_©_|investing/Financing . - | S N -
Tl Financing: . - - - T - Ve e SNBSS )
| & |Operating .~ .. _ . N 2 ‘ ‘
. f linvesting i ’ . 2 e T



| 13 Share Capital a/c Dr. 3000 !
| T Share forfeiture a/c 900 i
To Share allotement alc 900 |
| ' To Share Calls alc. i 1200 e LT
: Bank a/c Dr. 2000
' Share Forfieture alc Dr. 500
\__ .1 |- ToShareCapitalalc 2500 a 1 .
( Share Forfieture alc . . Dr. 250 |
b 2 N L R Capital Reserve 250 LY P e B LT e
=1 - | Pariculars 201617 201718 Absolute ~ Percentage of
i Increase/Decrease
; Increase/Decrease i Dl I Tt
| Revnue from operation 600000 800000 200000 33.33% 1
| Add Other Incomes 50000 100000 50000 100 % |
Total Revenue from 650000 900000 250000 38.46% i
SR s s 117 73 415 D e e T | N VY- e e
f Less Expenses 406060 500000 - -f0000G  _ B% | .
4 Profit Before Tax 250000 400000 150000 60% 1
_ | Less Income Tax 100000 160000 60000 . 60%
| Proft After Tax 150000 . 240000 90000 60% 1 4
15 | | Cash from Operation i : _ -
_ | _|ClosingPL " 30000 :
: Less opening P/L Sl e 20000 il
1 {Current year Profit = 10000 LI R
Add Depreciation _2000 af i il ;-
Add Good will 4000 \
- | Profit Before working capital Changes 16000 A _
Add decrease in Debtors - 4000 | {
" decrease in Bills remevable 4000 ¢ il
_______ LN e s, e - ) T
L e Less increase in prepaid inswrance 200 - - »____._--—-i—-— |
. Degrg@gf_a in out standing rent 2400_ _ el e e - o )
) | Cash from operation | 21400 | | 5
. ( for each correct entry 1/2 score) ,
| | Note: Provision for Depreaciation may be consider as current liability) _
= |Banka/c’ . Dr.(70000x3) 210000
|__Toshare Apphcauon alc 210000 |
| Share Application afc Dr. 210000
i To Share Capital a/c (50000x3) 150000
"_ 9 To Share Allotment a/c (20000x3) 60000 . | |
; ‘Share Allotment a/ ¢ Dr. (50000x4) 200000 ‘
" ! To Share Capital a/ ¢ 200000 '
| o = ] ) T =
Bank a/c Dr. . . ( 140000-1400) 138600 |
" Calis in arrear a/c Dr. ( 500x4-600) 1400
To Share Allotment alc 140000 ol
Share first call.a/c  Dr. (50000x3) 150000 . :
e to share capitalafc 2 150000 _ —
Bank a/ ¢ o Dr. - 1485C0 |
Calis in arrear a/c Dr.  (500*3) 1500
To Sharefirstcalla/c 150000 J_ ST [




! Share capital a‘c Dr. fBoer1oy 5066 .
| Toforfieted shates a/c 2100 i
| _Tocalls:in in arrears ga rud 29_0_
=il ﬁw_“_ el (vae one score for each correct eniry) e |
- T
3 Gross Profit Ratio = Gross: proﬁt 7 Net Revenue from Operatson x100
| Gross profit = Revenue from operation - Cost of revenue from operation
-=150000-120000 ='30000 , |
]!»Grczss Profir Ratio = 30000 / 150000 x 100 =20% 0 x
) .nvr\ntory Turn over Uat‘o = Cost of | revenue from op operation 7 Ay Average T
,‘ Inventory '
| Aveiags Inventory = Opemnc Stock + Closmg Stock / 2
By .=258600+31000/2 =.30000
| Invetory * Turnover Ratio = - 120000/ 30000 =4 Times - .|
c | Fixed Asset turn over Ratio = Net revenue from operation / Net fixed Assets
[ = 150000/ 110000 =1 .36 times o o DO |
d ,
£ |
| Debtors Turn ovei Ratio = Net (Credit) Revenue from operation / |
| , Average trade racievables '
| (Debtors) J |
_ | =150000/16000 = 938 Times

I o (nolo for, formula only glve 1 1.score each }
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Second Year Higher Secondary Examination March 2019

/4

T Year

{Finalised Scheme of Valuation)

Part il - Accountancy - CA ‘ode No. SY 50
an.No. Scoring Indicators Sscl:::':a :::::
Part - A - Accounting
1 (B). Cash Book 1 1
2 (C) Profit and Loss Appropriation A/c 1
3 Old Partners Capital A/c / Existing Partners Dr 1 1
To Cash
4 (D) Dissolution of firm 1 1
5 80000 x 8/100 x 7.5/12 = Rs.4,000 5 5
If Average period is reached as 7.5 months then give 1 score
6 {a) General Reserve a/c 40000
To Najeeba Capital a/c 13,333
To Sherin Capital a/c 13,333 1
To Nasar Capital a/c 13,334
[GR distributed to partners in equal ratio]
(b) Najeeba Capitala/c 6666
Sherin Capital a/c Dr . 6666 T
Nasar Capital a/c Dr 6667 g
To Profit and Loss a/c 20000
[ Accumulated loss distributed to partners)
OR
Debit General Reserve ,Credit Nasar Capital a/c 13,334 and:
Debit Nasar Capital a/c ,Credit P/L a/c 6,667 will also attract
2 Scaore - OR’
Also consider if capital account is drawn - 2 score
7 a. Casha/c Dr
To Realisation a/c 1 2
b. Transfer of liabilities to realisation a/c 1
3 Average Profit=  1,00,000 1
Capitalisation of Av.Profit = 1,060,000 x 100/8 = 12,50,000 1 3
Goodwill = 12,50,000 - 9,00,000 = 3,50,000
If equation is given - Give 1 Score
9 Share Acquired by Aleena = 3/6 x 3/5 =9/30 )
Share Acquired by Febina = 3/6 x '2/5 =6/30 3
New share ot Aleena =2/6 + 9/30 = 19/30 1%
New share of Febin =1/6+6/30 = 11/30
New Ratio = 19:11
10 Dissolution of Partnership Dissolution of firm
1 |Business is not terminated Business of the firm is closed
Assets & Liabilities are Assets realised and Liabilities
2 revalued __|paid off 3.
Economic relationship Economic relationship comes
3 changes to an end
4 .Balance- s < LR reRRred No Balance Sheet is prepared
immediatly
|[Any 3 differences - 1 Score each]




11

Balance Sheet as on ...
Liabilities Assets

T. Fund
Add: Donation
Add: Sale of tickt

Less: T. Exp _ ) (
For each additiori and deduction lscoreeach -3x1=3
For correctanswer-1x1=1. Total score = 4

Provide score if given in étatement form

12

5 Gracy's Cap__ital account

© |Balb/d
. |Int. On Capial
76500(|P/L Suspense a/c

Bal ¢/d

For each correct entry 1 score each. 1 x4 =4
Provide score if given in statement form

13

'Cl_. Capital balance
Add: Drawings

Less: Share of profit

Op. Capital balance
e

Interest on capital = 2,22,000 x 10/100 = Rs.22,200

‘14

Realisation a/c

Stock in hand 10000 (Creditors
Debtors .20000 |[Cash
Sundry Assets 53000 |

Cash - Creditors 60000 |

Cash - Exp | 2000 |Partners Capital a/c

145000 [Rinee - 6600
Arya -4400

For each correct entry - % Scoreeach. 7x% =3%

For arriving at correct balance - 1 % score. Total - 5 Score

If a student treated debtors as bad debts and hence not realised,

then the balance in capital a/c loss is 31,000. Rinee - 18,600 and Arya -

112,400 - Give full score




15 Income & Expenditure a/c for the year ended
Expenditure_ Income
Advertisement .

4000|Int. On invest 1600
Add: Accried 3000

Balance Sheet as on 31/12/2017

Liabilities Assets
Capital 87500 Building
Add: Surplus - 11000 98500(Furniture
Investment

Outstanding Rent 1000 Interest Accrued
Creditors
‘Donation for Building

Legacy

16 ' Revaluation a/c
Furniture

5000|Creditors
Stock 2000,
Machinery _2000/Partners Capital a/c
12000(Amal - 6600

Midhun 4400

Partners Capital Account _]
Amal | Midh | Faisal | Amal | Midh [Faisal
Bal b/d 40000 | 30000
Reval. 6600 | 4400 Cash 25000
Premium | 6000 | 4000
Cash 39400 | 29600| 25000
46000 | 34000 25000 46000 | 34000 | 25000
Balance Sheet as on 01/01/2017
Liabilities ‘ Assets
Cash
Creditors 49000/ Debtors
|Stock
Partners Capital a/c Machinery
Amal 39400|Furniture
Midhun 29600
Faisal 25000

143000




. Part- B - Compyterised Accounting
{d). Nper

1 1 1
2 Insert, Chart [ Half score each] 1 1
3 (b) Current Assets ' 1 1
4 Any meaningful example 2 2
5  |Edit-Fill - series OR

Select a cell and drag using the fill handle OR 2 2
Any meaningful answer in relation to the above
-6 1. Chart Titie 2. Data point /Data Series /Plot Area
3.legend 4.Xaxis - 2 2
Give full score for any two correct answers,

7 Any four components - Table, form,report, Module, Macros, Pages
OR 2
Hardware, Software, users, Procedure

8 Any 3 function such as
S'l_JM, SUMIF, AVERAGE, MIN, MAX, ROUND, ROUNDUP,ROUNDDOWN 1x3 3
COUNT,COUNTA,COUNTBLANK,COUNTIF Etc.

9 No 1
SLN = Dep is calculated under fixed installment method
DB = Dep is calculated under diminishing balance method ) 3

Syntax =SLN({cost,scrap,! ife)
Syntax = DB(Cost,salvageJife,period,month)

Open hase - Application - Office - Base

Create new database - Database wizard -create new database -next

enter finish button = . 3
From the database panel select the object table under design view

Enter field type - save the table by giving primary key

11 No

Any meaningful answer 4 5
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Time : 2 Hours

MARCH 2019

Cool-off time : 15 Minutes

Part — III

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

General Instructions to Candidates :

13§90 NO1SBc56)) 5353 6)atI@YMIDCFUOBG :

There is a *Cool-off time’ of 15 minutes in addition to the writing time.
Use the *Cool-off time” to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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SY 50
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PART - A
ACCOUNTING (Maximum Scores : 40)

- 4x1=4
Answer all questions from 1 to 4. Each carries 1 score. ( )

1.  Receipts and Payment Account is equivalent to
(a) Profit & Loss A/c. (b) Cash Book

(c) Balance Sheet (d) Capital Alc.

2. Identify the name of account which is prepared to show, how the profits are distributed
among partners. :

(a) Income & Expenditure A/c.

(b) Profit & Loss A/c.

(¢) Profit & Loss Appropriation A/c.
(d) None of these

3. Complete the following Journal Entry :

Alc. Dr.
To Cash A/c.
(The amount of goodwill brought in by the new partner ﬁfiﬁldrawn by the existing
partners.) e
4.  The business of the firm is terminated when take'place,

(a) Dissolution of Partnership
(b) Retirement of a partner
(c) Death of a partner

(d) Dissolution of firm

SY 50 2



g - ag)
@RAYMElow) (uomai1uil capoday’: 40)

1 2)ma3 4 Ipow)as a)gp cansymBan) 2omoeaRme 16apod allce. (4 x 1=4)
1. 0Mlaig @ calipany” @ressrnere” ™ @)L A6,
()  Ganadlg'& cenay Ale.  (b) & 100H N6

(©)  enuveindoyasfig (d) ®PaNgad Alc.

2. ooy eaigesudicd ol UBIElSZ0s e1ce allde  eugMEImoe]
@GOO0IBNM @A VENEIOY Gal® af)9)O)c.

(@) @Bao & af)&TBaIFlald Alc.
(b) GinJoadlg” & ceiday’ Alc.
(©)  Gondlg & se0m @REMInNca3 Al

(d)  uewomagy

3. ey @ariges crAmM@3 ag)md(S] aljdriled o, ;
Alc. Dr.

To é»yonu’Alc.

(an@lw ass:og aaomaaimm walad pllaleo avw alB 0SB afladay eflemmmy))

4. 80 ausglon mﬂmﬁlm(m" Vo@oemDileg] m.nmﬂmq;g af)HINCIMEe@A0w
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(@  Wlen0eI Boa anB@sMBala]
(b) dsdeaad @0 andsmad
(€) WA Bab ald@SMA

(d) avlemoeiyesnd 8da0 Gale
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. x2=4
Answer any 2 questions from 5 to 7. Each carries 2 scores. 2 )

) : 4 e ' ing
5. Chaithanya and Sandra are partners in a firm. sharing profits and losses Lquall?. [?un 51
» (T )
the financial year 2017-18. Sandra withdraw ¥ 20.000 quarterly on the beginning ©
each quarter. Find out the interest on drawings @ 8% p.a.

6.  Najeeba, Sherin and Nasar are equal partners. Nasar decides to retire. On the date of his
retirement, the Balance Sheet of the firm showed a General Reserve of ¥ 40.000 and
Profit and Loss Account ¥ 20,000 (Dr.) |

Show the accounting treatment for the above.

7. Complete the worksheet based on the hint given below :

Description Journai Entry
Hint | Transfer of assets to | Realisation Afc. Dr.
Realisation A/c. To Assets Alc.
(individually)
(a) | Sale of Asset ?
(b) ? Liabilities A/c. Dr.
To Realisation Ale. j

Answer any 2 questions from 8 to 10. Each carries 3 scores. 2x3=6)

8. The profits earned by a business firm during the last 4 years were ¥ 90.000,
Z 80,000, T 1.20,000 and ¥ 1,10,000 respectively. Normal rate of return in similar
business is 8%. Calculate the value of goodwill by capitalization of average profit.
Assume that the value of net assets is ¥ 9.00.000.

9.  Sruthi, Aleena and Febina are partners in the ratio of 3 : 2 : 1. Sruthi retires and her
share is acquired by the remaining partners in the ratio of 3 : 2. Calculate the new ratio.

10. Ashina, a Commerce student is in a dilemma that she has no clear idea about the
differences between dissolution of partnership and dissolution of fim. Can vou help
her by giving three points of differences in this regard ?
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2 ecapad afloo. 2x2=4)
S 9PUOMI@P  MOMW @)y AIBOSle20WEs  uooaImEies, 2017-18

MOMUGTD ABUOHGB, UM BGE0 YT @omvoriler)e m)saacmiad 20,000

@t allee  afldaelenym). aquo@mps ®mdag ael  (@@ogy o6

GUIloY) 8% Q10Basild> MAOBEN @ BHEMBOI )b

6.  medlen), Oaudlad, Moaud agmrlaud ML} alBOEIBHSOW)BS MNIaIMEII@E alamle
MaLE afledlenam). @ea dlarmve auodaIm@Tinng snueirday’ «sdidi@d 40,000 @
2Moad dlavdge®)e, 20.000 @l cnadly @M’ cenay @REsVME avenilg
STUORIMBAVIW)o BHOEMIEe)M).

CADnOSTNAUW]OS CRAMDI af)B(SIBHUB ag)9)®)b>.

7. @69 manlges adesadlg qLlaIn®)es @RSINOOMBTES al)BoTHl:O10e)E :

ailauoame cRAIM@ ag)ad(s)
V)M | ARAVYBB FlRONHRIETVHM | wesIcTVaum Alc. Dr.
@RS DENEIGRINES BOQIIM@IM’ To @pavgMy Al
(V)00 @0©)
(a) | @eavgalleymalay 2
(b) ? eecimnieldloy’ Alc. Dr.
To dlweseicrvauad Alc.

8 2)@@3 10 1OHOW)BT 2103 4MSIA3 agO®esleloe 2 afGROTIM DOHOOHALI®)B>.

3 capod aflo. 2x3=6)
8. &) mimimqy Moecramions &¥lenm 4 aidauamglont ene. T 90,000; T 80,000;

3 1,20.000; X 'I,_I0,000 alEnem@oem. avacm eimimgueses cmodacs

©0Wq 630a0 dlcgemd 8% @M. 6MQ @RILYIBOS @)eile 9,00,000 ®)aIDIOEMAN

@MDIMATIT VOV LIOCOTD  >PafQOEORITY  Haigy MUNdIMETI 6T

VAWAN@3 HOTBOID)S.

9. WO, anellm, eacmim aaflaid 3 @ 2 : 1 am @RMOGONG e10em oo
IS )OI aIB0glea0im. @@ aflodlemenndd @raIews enes aQiesaId
3 : 2 a)dn @MW cmsimMmeaslad @rellm, sanmim af)mlaiees
)@@ @RM}AIODo BHEENSDTIN)B:.

10. ewocasay alsPdaslal@o® @RYHINE AWlOIVIRIYHM Boad” a@dsmBaulal,
AWlOavoeIaHad Ba0 Galo af)Milal MAAILNBH QY@ PAVBBOBOTNIOBHWIHEMAT
QEOA0W  WOoIMAIE). agomBlele M APIVEB  melassce’ gyv
aflap3asalow Mano@lenead ?
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Answer all the questions from 11 and 12. Each carries 4 scores. 2x4=8)

I1. Ms. Bhavya, the secretary of Butterfly Arts & Sports Club is not aware about the

treatment of tournament fund in their Balance Sheet. As a Commerce student you are
required to help her based on the following details :

L4
Tournament Expenses 16,000
Toumament Fund 22,000 .
Donation for Tournament 8,000
Collection from the sale of tournament tickets 6,000

12.  Gracy, Shiyana and Subisha were partners in a firm sharing profits in the ratio of 5: 3 : 2. 1
Their balance sheet as on 31-03-2017 stood as follows :

Balance Sheet as on 31-03-2017 T
Liabilities Amount Assets Amount

Sundry Creditors 22,000 | Land & Building 40,000 f

General Res.erve 12,000 | Plant & Machinery 50,000 |
Partners’ Capital A/c. : Stock of Goods 30,000
Gracy 60,000 Sundry Debtors 38,000
Shiyana 50,000 Cash at Bank 16,000

Subisha _30.000 | 1,40,000

1,74,000 . 1,74,000

Gracy died on 1-10-2017. Her legal heirs are to be settled on the following terms :
(a) Interest on capital to be provided @ 10% p.a.

(b) Profit till the date of death may be calculated on the basis of last year’s profit,
which was ¥ 30,000. :

Prepare the Capital Account of the deceased partner.

Answer all the questions from 13 and 14. Each carries § scores. (2 x 5=10)

¥ o L ™ N D BN N ke

13. Priya is a partner in a firm, her capital at the end of the financial year 2016-17 was |
2 2,00,000. During the year she had withdrawn ¥ 30,000. Her share of profit before |
charging interest on capital for the year was ¥ 8,000.

Calculate interest on capital @ 10% p.a.
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|-



11 a)@@3 12 oaw)@8 o)l calBidBRdanl QOMOHAYI®]d. 4 G1pId aflme.

2x4=8)
MUSEDONG @HASIY & cayEAsIY Gemflon aav@sdl @)adal. BaIE IR
A ‘s Bemenaf a0me” am  OMETING  @RESELY  COMIN.|S)ONT
AHFOMOWT WSEBIW WIRMAEY. B} Hadcavy aflspdadloman meiiod
@069 ®ATISIEs AluiEsMENges ARSITULIMEINGS @RAIND TVaNIDIEND

11.

4
s@emeand” easeiansd 16,000
S)3emeany” aoere’ 22.000
s)demeaqflmas aueeoaIm 8,000
si@emeaqd” sleag allejm aleal 6,000

2. sy micdoq) Mueoamamleel asdglegodio)m cway, asdfl@om, augenflas
admicaud 5:3:2 agom mm;mocmmuﬂeiosrﬁ‘ eneo ma;m@m;cm@‘: 31-03-2017 e
ARAIOYOS MUIIRINBI a8dlg 21)AUOS CaIBHO)M) :

Balance Sheet as on 31-03-2017

Liabilities Amount Assets Amount
Sundry Creditors 22,000 | Land & Building 40,000
General Reserve 12,000 | Plant & Machinery 50,000
Partner’s Capital A/c. : Stock of Goods 30,000
Gracy 60,000 Sundry Debtors 38,000
Shiyana 50.000 Cash at Bank 16,000
Subisha 30.000 | 1.40,000
1,74,000 1,74,000

1-10-2017 @ el o) aIBOGl BEEMOA|S). ©IOY A0 MENIMLMEBUBEE’

aflcwao®] MAIRNS ARAIBIVTIBUBES @meadK alldajoss madcamemee :

(@)  @eiwmqeelv 10% andadae mlesesa mgiemo.

(b) @ceMen|s AlaIaTve USHEWISS £I0Ge, Bl AId-uacm eoeonNg @S-
aqueomal@d Midgpaleaame. @¥laum Ao e1o&e 30,000 ojaimosm.

BREMEA|S AIBIEIRIAS B10a QB8 AR VENE MYI00EN)d.

13 2)®@3 14 10098 a)€J0 02103 BN} HOMONAFLEN . S cmpod allmo.
(2x5=10)
13. a0 minimqy MOINEMee) aBISIN®  (lowes @Pallged  2016-17

muoauonile  Udasoamiesiad  2,00,000 @i@oam.  (WAN®  AIdaso  @RAIA

afodaiellay @@ 30,000 @pu@osm. @dES ene afladido 2eiwmalelivd
HEMANENM@IM )Basnaan® 8,000 oj@a06m.
10% Q19@asil@ WIS 2)RIWMa eflvd BEMENIHN .
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14,

15.

Rineesha and Arya are partners in the ratio of 3 :

31-03-2017 is given below :

Balance Sheet as on 31-03-2017

2. Their Balance Sheet as on

Liabilities Amount Asscts Amount
Partners’ Capital A/c. : Bank Alc. 50,000
Rineesha 22,000 Stock in Hand 10,000
Arya 25,000 47.000 | Debtors 20,000
Creditors 60,000 | Sundry Assets 53,000

Reserve Fund 26.000
1,33,000 1,33,000

The firm is dissolved on 31-3-2017. Prepare the Realisation Account by considering

the following :

(1)  Stock realized ¥ 9,000

(ii)  Sundry assets sold for ¥ 45,000

(i1i) Realisation expenses met T 2,000

(iv) Creditors paid in full

Answer any 1 of the following from 15 and 16, which carries 8 scores. (1 x8=8)
Bright Charitable Society gives you their Receipts and Payments Account :
Receipts & Payments A/c. for the year ending Dec. 31, 2017
Receipts Amount Payments Amount
Opening Balance : Advertisements 5,700
Cash 15.000 | Charity Expenses 4.000
Bank 12,500 | Investments 32,000
Subscriptions 26,300 | Computer 25.000
Donations for Buildings 60,000 | Rent 6.000
Legacies 44,500 | Stationery 1.200
Interest on Investment 1,600 | Printing 2,500
Bank interest received 500 | Closing Balance :
Bank 59,000
Cash 25.000
10400 1,60,400
8
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14.

15.

Aflas@)e @RI 3 : 2 af)am @M OIS L1080 AJBOUT B @0,
31-03-2017 1 ARAIRINS TUOAIMATAON] sruopiaday’ afig @oay @adlaam] -

Balance Sheet as on 31-03-2017

Liabilities Amount Assets Amount

Partners’ Capital A/c. Bank AJc. 50,000

Rineesha 22,000 Stock in Hand 10,000

Arya 25,000 47,000 | Debtors 20,000

Creditors 60.000 | Sundry Assets 53,000
Reserve Fund 26.000

1,33,000 1,33,000

31-3-2017 ¥ DD UODAIMo @RSafJal)SIAM). @Y AJO@)aM @RMENIMD afluosmud

)5 BENASNOLISIOT G DORRIGTVAUD TRANVEE EGICOLND: :

(i) cggam"qﬂg@gm“ 9,000 ~
(i) e mmg’nﬁ'eﬂ%m aioai’ T 45,000
(ii1) AlONIGIVAHNS Balell)dhud O@IS)TD I 2,000

(iv) (@ailegyailay M @e®lo mefl.

15 a3 16 ueHowSS calosysnglad agomaielo 1 ngysmmmﬂnf DOODLLD] .

8 capod. (1x8=8)

o6Eg ato@igen/iid aILInOILGINS omﬂm"g":m‘mgag"cdm)‘bt@“ @RAEYVETE MIOY
@ari@leayam) -
Receipts & Payments Alc. for the year ending Dec. 31, 2017

SY 50

B Receipts Amount Payments Amount

Opening Balance : Advertisements 5,700
Cash 15.000 | Charity Expenses 4,000
Bank ' 12,500 | Investments 32,000
Subscriptions 26,300 | Computer 25,000
Donations for Buildings 60,000 | Rent 6,000
Legacies 44,500 | Stationery 1,200
| Interest on Investment 1,600 | Printing 2,500

Bank interest received 500 | Closing Balance :
Bank 59,000
| Cash 25,000
1,60,400 1,60,400

I
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Prepare Income & Expenditure A/c. and the Balance Sheet for the year ended
Dec. 31, 2017 by giving due attention for the following :

(i)  On 1-1-2017 the society owned a building worth 50,000 and Furniture worth
¥ 20,000 and it had creditors of T 10,000.

(ii) Donations and legacies are to be capitalised.
(111) Interest on investment accrued ¥ 3,000.

(iv) Outstanding rent ¥ 1,000.

16.  Given below is the Balance Sheet of Amal and Midhun who share profits and losses in
the ratio of 3 : 2.

Balance Sheet as on 01-01-2017

Liabilities Amount Assets Amount
Creditors 50,000 | Cash at Bank 5,000
Partners’ Capital A/c. : Su'ndr_y Debtors _ 20,000

Amal 40,000 Stock : 20,000
Midhun _30,000 70,000 | Machinery 50,000

' Furniture 25,000
1,20,000 1,20,000

Mr. Faisal is admitted into the partnership on the following terms :

(i)  New partner has to bring in ¥ 25,000 as capital and ¥ 10,000 as goodwill for 1/6%
share.

(ii) A creditor of ¥ 1,000 will not claim his amount.

(iii) Furniture is revalued at ¥ 20,000.

(iv) Stock reduced by ¥ 2,000. ‘

(v) Depreciation on machinery @ 10% p.a. |

Prepare the Revaluation Afc., Partners’ Capital A/c. and the ‘Balance Sheet after

admission.

SY 50 10




OO 0@ @RMENITW alasoangles @eslrucomaeniacd 31-12-2017 ees MBS0
@MW af@BrUnaIlald @Ras e seImdm’ g EXgINoaN :
@ 1-1-2017 &8 omoeemgl@)es 99aauts DBl ERMA MOWmEA :
miladavlowy’ 50,000
andemflayd@ ¥ 20,000
@alegday T 10,000
(i)  SWICEMAHM, £INMI o) @Pa/IQOORITY H121Q))d:.
(iii) eossmomimes aeln alsomeas (ajoqy e gaeuqueadg) T 3,000.

(iv) ansa aads@esomens T 1,000.

16. @Rams, AWO)B afaTHAIB 3 : 2 AT ERMOMGTIAGE LI0EMago AJBON] MSOTNAM
sm1mj\axm"m1comrrm’lsx§ suoeIBay sllg ewew exariidlesam) :

Balance Sheet as on 01-01-2017

Liabilities Amount Assets Amount
Creditors 50,000 | Cash at Bank 5,000
Partners’ Capital A/c. : Sundry Debtors 20,000

Amal 40.000 Stock 20,000
Midhun 30.000 70,000 | Machinery 50,000
Furniture 25,000

1,20,000 1,20,000

Ve alo@M dlaumwmandas allcwaod] 3l. OacaV@d agyMEoeg

sy asogieool cal@anyam) :

(i) anolo asogl @pg_._[!g@aaﬁl 25,000 opu@p umasalled epmomiad 10,000
B}al@)o HBITEAIDENo. @RCFOTINEXY c102ailadido 1/6 @rysm.

(i) 1.000 o} MgPMEE 20) (BAUIE WIND M FRAKDYSIE] gy
alyem20.

(iii) andamiajdlen an@l® ailer 20,000 o).

(iv) cquasieq alleiia 2,000 opu@es &)00i Tvoeallay).

V) oadasimdaes 10% andala mesesiad wlnimicmam  odoel aa xgeams.

dlapcelsiid  @RAIDTE, AIBElBR)0S SPalond  @RSODE, asoglaes
(AICQIRMATNT CUBMADS MOEIBMY A ag)aTiias BxgRoae)s.
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PART -B

COMPUTERISED ACCOUNTING
(Maximum Scores : 20)

Answer all questions from 1 to 3. Each carries 1 score. 3x1=3)

I~ Identify the suitable argument in a financial function representing the number of
payments from the following :

(@ FV (b) PV
(¢) Rate (d) Nper

2. Can you help Mr. Ajith Kumar by pointing out the missing steps to create a chart in
Spreadsheet from the following :

Enter the data in cells — Select the data — — — Finish.

3. Inan accounting software, the ledger's ‘cash’ comes under group.

(a) Investments (b) Current Assets
(¢) Fixed Assets (d) Capital
Answer any 3 questions from 4 to 7. Each carries 2 scores. 3x2=6)

4. Develop a coding structure and the code number with assumed figures for allotting
~ register numbers for the students in higher secondary exam with district code, school
code and admission number.

5. Have alook on the Spreadsheet tables given below and explain the procedure to fill the
data in both the cases :

(a) A B (b) A B
1 10 1 | Subject-1
2 20 2 | Subject -2
3 30 3 | Subject-3
4 | 40 4 |
5 50 5

SY 50 ED)




atodg - enil

HTUYFONOMVAL apoaOMiElo)
(aromoaiu] nn_pmﬁnv': 20)

1 23 3 IO0WBN af)E) 0a10NBEN]e TNOONRITY D I sapod all@o.
Ax1=3)
. 69 aomulod adlmanday®  afollamionr MAITHGRINS (RO
V) fla fl@N)aM AeISd0 @ ?
(@) FV (b) PV
(¢) Rate (d) Nper

2. Uil atndg oiidamleaomalanon MmSaldl nasmdd demuomanaiay
3. OREI @)@0IOM TaNIW 09D :
OILEGEITE WY CORIN SO —> GOAINA SO ALOQ AOVALY Onlud ~>

— —) nd.lﬂﬂrﬂ.‘r.

3. mmnsrélom'amnd‘g'mmmnﬁnmmeﬂmﬂ '@\t af)am plavmd
W) flod gchmHSAmman:;nnmasrﬁ '
(a) @nﬁmmg}fmmcﬁhﬁ () @ mnug‘nu“
(€) bl @emugay (d)  @yaflgod

4 oymad 7 eOW)DH 02003 god agOmOICIe 3 na)qnmﬂn'f DOINOCDEO} 0,

2 oapod alle. (Ax2=6)
4. ap@d eavaajol alflomeEEmaN alspdmdlovdos mmaidonmoimowl
eaoay maud, apud  amoan maud, aoavdiaund  moud  apavial

zl?;gsgmmﬂamam;gﬂ a@ow’ maud aloniqflemamailonng. ceIsm RAaN0aT
VA0 Do QI§SODIDGND:.
5. ooew ®0a VeIl asminedd @0em}o. maion avoq ol
OaIgN@I D _T_sy_sl_w;mmndﬁ alvnom :
(a) A B (b) A B
_l—_Tﬂ.—-'—_ _l Suhjccl"-i il
2 20 P 2 Suhjcctn‘.-'-!ﬂ ih
3 30 3 uéilhjccl a3l
__:1__,__;1.0__ — _4.—..........‘
_E_T_._.. G N N
& P.T.0,

SY 50



6.  Identify the elements of a chart 1 to 4 from the following figure :

Monthly Sales ®
5000
4000 @ @
O Salcs
3000
2000
1000
@
Jan, Feb. March

7. A Data Base Management System (DBMS) has different components. List out any four
of them.

Answer any 2 questions from 8 to 10. Each carries 3 scores. . 2x3=6)

8. Mr. Anjay a newly admitted student in the class have no idea about the mathematical

functions in Spreadsheet. Can you help him to learn any three mathematical functions
and its purpose ? . :

9. One of your friend argued that there is no difference between:'S'LN and DB functions in
Spreadsheet. Do you agree with this ? Substantiate your answer.

iy
0]

10.  Explain the procedure for creating ‘Table’ in a database and how to set the primary key.

crbari

Answer the question number 11, which carries 5 scores. (1x5=5)

11. Ms. Sunitha, a Commerce student, while presenting a seminar on accounting software

.package, commented that the procedure for entering closing stock and opening stock
. are one and same. Do you agree ? Explain the procedure in _dﬁiail.
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